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1 Introduction
Some agreements on UE ON/OFF time mask has been made in last RAN4 meeting as below [1]. This contribution gives some further discussion for consecutive 1ms+2os TTI.
· A simple logic is required to determine the location of the transient period without degrading system performances still.
· Following logic has been agreed for consecutive sTTI w/wo SRS is: 
· If the symbol on the right of the transient is ‘R’:
· Then irrespective of the symbol on the left, place the transient in the right ‘R’
· Else if the symbol left of the transient is ‘R’:
· Then irrespective of the symbol on the right, place the transient in left ‘R’
· Else:
· Share the transient symmetrically between the symbols. 
· This logic would be checked for consecutive 1msec+2osTTI and 1msec and 7os TTI
2 Discussion

According to the agreed logic, some examples of time mask for TTI+2OS sTTI are listed as below:
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Figure 1 Some examples of time mask for 1msec+2os TTI
From Figure 1, it can be observed that case c), d), e) and f) are not very reasonable, so reuse the logic for consecutive sTTI is not applicable for all cases. 
The logic is proposed to be revised as below for consecutive 1ms+2os TTI:

· Following logic is proposed for consecutive 1ms+2os TTI: 
· If the symbol for longer TTI is SRS:
· If the symbol for shorter TTI is R
· Then place the transient in the shorter TTI
· If the symbol for shorter TTI is D
· Share the transient symmetrically between the symbols
· If the symbol for longer TTI is D and the symbol for shorter TTI is R:
· Share the transient symmetrically between the symbols
· Else:
· Place the transient in the longer TTI 
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Figure 1 Revised examples of time mask for 1ms+2os TTI
3 Conclusion
This contribution discussed ON/OFF time mask for consecutive 1ms+2os TTI and made the following proposal as below:

· Following logic is proposed for consecutive 1ms+2os TTI: 
· If the symbol for longer TTI is SRS:
· If the symbol for shorter TTI is R
· Then place the transient in the shorter TTI
· If the symbol for shorter TTI is D
· Share the transient symmetrically between the symbols
· If the symbol for longer TTI is D and the symbol for shorter TTI is R:
· Share the transient symmetrically between the symbols
· Else:
· Place the transient in the longer TTI 
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